REBEWESE

XA EIEE EX=E EXE(TA) EEIRK
1 EF S40 ~ S41 REEEA 44,686 HEHEST
A = 61.0 ha
2 BHER S4l ~ S42 |XEEE A = 61.0 ha 34,592 REpHX ek B X
3 HiES S42 BER A = 7.2 ha 8,707 KELEEME
4 KAt S42 ~ S43 |EhiER A = 240 ha 23,064 HEMEIT
5 R S42 ~ S43 | A = 67.4 ha 62,040 HREFELT
6 LES S42 ~ S43 | BihER A = 59.4 ha 56,422 HREHET
7 KR S43 ~ S45 | REEIE A = 65.6 ha 84,279 KRER
8 I S44 XEEE A = 37.3 ha 60,264 #JIETLHHBR
9 NI S44 BiER A = 149 ha 15,956 HREFEIT
10 = S45 REEERBE 6,491 EREFFETAEMS
A = 78 ha
1048 X ERE A = 4056 ha 396,501




